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[ RHT R 2,855\ 1,414| 1,441 1,056 (R T2 1 1,936 988 948 694 (BRI =3 ] 583 287 296 215
CH BT R 899 434 465 381 TR T B 2,564 1,268] 1,296 1,049 LR T BLAR) 1] 484 241 243 211
[ 4emT 2 B 824 410 414 343 PRIFHTRER 1T B 319 164 155 141 [BIRgHT] 3,198 1,600 1,598 1,234
CHERmT /N 2R 1,030 510 520 415 BRIERTEE R 2T A 514 246 268 203 (R HLHT ] 1,504 745 759 614
FRARETS R BEEITHER3 T B 81 39 42 36 FREEMTALnT 2,013 975 1,038 772
R R 1T H 283 135 148 126 PRIERTEERAT A 270 138 132 101 REHTRET1IT H 214 98 116 100
FRARITY R 2T B 275 132 143 106 RIFHTFERS T B 595 321 274 278 RERTIEET2T H 178 90 88 73
HRETY R 3T H 272 135 137 105 PRIERTEER 6T A 231 111 120 88 REHTARET3 T H 138 74 64 60
FRRITY R feA T B 136 65 71 57 (RS T i ] 4,574 2,287 2,287| 1,896 KERTIERTAT H 314 158 156 142
HRETY R 5T H 255 123 132 108 IUIEN [RHET ALHT] 2,857| 1,395 1,462 1,147
FRARITY R 6T B 256 124 132 112 BRIFHT AT 1] B 144 80 64 65 KT = T
HRETY R 7T A 151 72 79 58 BRIERTART2T A 101 52 49 47 KB HH1 T B 175 83 92 55
FRARITY R 8T H 317 156 161 129 BRIFHT A3 H 99 53 46 47 KT Hif2 T H 271 127 144 86
HRETY R 9T H 141 70 71 55 BRIFHTARTAT H 42 21 21 15 KERT 5~ H3T B 122 54 68 48
HRHRETY L 10T B 235 124 111 104 [ JFr T AR HT ] 386 206 180 174 [T == T 568 264 304 189
[T W, 2 B ] 2,321 1,136| 1,185 960 [&)mT] 11,399 5,684| 5,715 4,504 [ REEmT] 4,929\ 2,404 2,525| 1,950
[T B ] 1,416 693 723 511 ()11 /T F135 ] 586 299 287 233 [P T ] 1,977 956 1,021 780
(kT B A ] 1,325 670 655 519 () [HT Fp 3] 1,162 549 613 436 [FEmT] 1,977 956| 1,021 780
LRI R 3 ] 1,618 801 817 572 ()1 [T T 4H ] 324 159 165 116 [BEAHT /N1 ] 54 24 30 18
[T i ] 1,599 796 803 653 EFNLEN 1,021 516 505 352 [ BEAHT 2 ] 69 36 33 31
[ 4T ] 13,887| 6,864 7,023| 5,410 ()1 BT /e ] 230 116 114 81 [BEIANT & £ ] 798 396 402 312
RS T P 7 ] 140 77 63 49 ()[BT _F/ )N ] 423 205 218 194 [RAAMT )\ ] 238 126 112 100
CRAE T R 1,658 796 862 651 () 10T /NG ] 890 438 452 388 [BEAHT B A | ] 705 346 359 253
RS T A I 1,537 754 783 589 ()11 m7 4 ] 107 57 50 42 [RAAMT & H ] 902 459 443 166
(R4 JROT _EAE R ] 1,168 576 592 451 [3E)11mT] 4,743| 2,339 2,404 1,842 [RAAHT B A ] 1,019 488 531 352
B HT & 1,280 654 626 485 (RArgmT#h N | ] 1,191 601 590 471 [ BEZHT] 3,785 1,875 1,910[ 1,232
BREFITE 1 T B 433 216 217 130 (RArEIT 40 ] T 628 315 313 219
BT S H2 T B 223 118 105 79 [RArEMTRIA T ] 312 156 156 118 AEF 43,918 21,722| 22,196 16,952




